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ANIHFSE kn Fa st
(mtE) 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19+ -

1 dtiEE 420 114 14 15 50 49 6 17 12 12 14 15 1 15 28 7 791
2 BEHEE 3 6 15 19 106 31 0 3 0 182
3 EFE 40 100 255 237 291 103 122 77 7 1 1 14 7 1,253
4 =HEHE 3 0 15 2 20
5 AR 10 20 16 14 5 3 0 2 1 0 4 1 8 84
6 Wz I8 6 0 1 1 2 7 4 1 0 2 0 0 0 25
7 EER 0 2 20 23 183 100 5 10 5 7 11 2 1 6 0 0 12 387
8 Rk IR 1 1 3 5 8 0 9 2 0 1 0 12 42
9 HARE 12 22 2 27 68 23 2 0 1 2 0 1 0 160
10 HEER 4 19 3 14 68 135 0 3 4 1 1 0 3 8 2 265
11 BER 0 0
12 FER 0 0 5 1 7 14
13 E g 1 1
14| #FRIE 1 0 0
15 FRE 10 1 2 2 0 0 1 0 17
16 ELE 0 1 0 1 0 3
17 AJIIE
18 BEHE 1 4 0 5
19 e
20 EHFE 17 63 42 1 9 0 2 135
21 Iz B2 I8 1 3 0 0 0 2 1 7
22 Ednals 3 1 1 16 39 0 59
23 ERE 2 6 7
24 =F8 1 2 7 6 0 0 0 3 0 0 1 20
25 HER 0 0 0 0 1 1 2 4
26 RARAT 0 0
27 pNA 0 0 0
28 EEER 2 15 9 6 0 6 15 2 1 0 0 1 57
29 =ZRE 12 5 18
30 | FFLUE 0 3 50 17 1 71
31 BHE 5 1 1 7
32 ERE 5 4 2 9 8 1 3 0 32
33 fif] LU IR 1 14 18 5 1 0 0 4 1 0 44
34 LEER 3 4 5 5 0 16
35 nymy'=y 1 0 1
36 T
37 FIIE 1 1
38 ZEE 1 1 2
39 =18 8 9 10 1 28
40 faiE R 1 1
41 EER 1 1 1 2
42 RIFE 0 2 0 1 3
43 REEXE 1 4 16 14 0 0 0 0 1 0 38
44 N 0 0 1 2 1 1 1 0 2 2 3 14
45 = G IR 2 2 6 3 2 15 23 2 0 4 2 0 0 0 60
46 | BEREE 2 5 0 7
47 SRR

B 517 419 451 398 882 534 173 111 35 52 71 61 8 8 21 20 26 46 53 3,885
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